Using 64-bit preprocessor
Starting Dynare (version 4.6.3).
Calling Dynare with arguments: none
Starting preprocessing of the model file ...
Found 14 equation(s).
Evaluating expressions...done
Computing static model derivatives (order 1).
Computing dynamic model derivatives (order 2).
Processing outputs ...
done
Preprocessing completed.

Warning: Some of the parameters have no value (theta_p_trans) when using
steady. If these parameters are not initialized in a steadystate file or a
steady_state_model-block, Dynare may not be able to solve the model... 

STEADY-STATE RESULTS:

y      		 0
pi     		 0
i      		 0
winf   		 0
rw     		 0
mc     		 0
mrs    		 0
l      		 0
a      		 0
g      		 0
y_obs  		 0
pi_obs 		 0
rw_obs 		 0
i_obs  		 0

EIGENVALUES:
         Modulus             Real        Imaginary

       1.437e-16       -1.437e-16                0
          0.1767           0.1767                0
             0.9              0.9                0
             0.9              0.9                0
           1.042            1.042                0
           1.098            1.098                0
       1.326e+17       -1.326e+17                0


There are 3 eigenvalue(s) larger than 1 in modulus 
for 3 forward-looking variable(s)

The rank condition is verified.


You did not declare endogenous variables after the estimation/calib_smoother command.
Initial value of the log posterior (or likelihood): -156773.3919
-----------------
f at the beginning of new iteration,    156773.3919305928
Predicted improvement: 155053459.663279623
lambda =          1; f =       157278.0023067
lambda =    0.33333; f =       156817.7117085
lambda =    0.11111; f =       156775.5330235
lambda =   0.037037; f =       156801.7751072
lambda =   0.012346; f =       156774.6158390
lambda =  0.0041152; f =        91650.9446496
lambda =  0.0013717; f =       122739.2857179
lambda = 0.00045725; f =       137942.2754326
lambda = 0.00015242; f =       144549.8360711
lambda = 5.0805e-05; f =       148984.0453132
Norm of dx      176.1
----
Improvement on iteration 1 =    65122.447280945
-----------------
f at the beginning of new iteration,     91650.9446496476
Predicted improvement:  2128628.996483617
lambda =          1; f =        91660.5589162
lambda =    0.33333; f =        91651.1049368
lambda =    0.11111; f =        91653.0473850
lambda =   0.037037; f =        91650.9497224
lambda =   0.012346; f =        55243.2736401
Norm of dx     20.774
----
Improvement on iteration 2 =    36407.671009525
-----------------
f at the beginning of new iteration,     55243.2736401223
Predicted improvement:    36172.912487383
lambda =          1; f =        55244.8389513
lambda =    0.33333; f =        55243.3033265
lambda =    0.11111; f =        67854.0634831
lambda =   0.037037; f =        53873.3716008
Norm of dx     2.2906
----
Improvement on iteration 3 =     1369.902039348
-----------------
f at the beginning of new iteration,     53873.3716007740
Predicted improvement:    29375.148051518
lambda =          1; f =        53873.4942083
lambda =    0.33333; f =        53873.3799451
lambda =    0.11111; f =        47090.0753433
lambda =     0.2148; f =       158382.9048017
lambda =    0.14463; f =        43575.2606693
lambda =    0.18337; f =        40409.5110360
lambda =    0.23248; f =      1077144.7205427
lambda =    0.20163; f =        62047.3258233
lambda =    0.18512; f =        40872.6453017
lambda =    0.19485; f =        47969.7668344
Norm of dx     1.8736
----
Improvement on iteration 4 =    13463.860564801
warning: possible inaccuracy in H matrix
-----------------
f at the beginning of new iteration,     40409.5110359730
Predicted improvement:    96005.154917524
lambda =          1; f =        40423.9727638
lambda =    0.33333; f =        40410.4203966
lambda =    0.11111; f =        40409.5173161
lambda =   0.037037; f =        38523.9178857
lambda =   0.012346; f =        38031.2859375
lambda =   0.023866; f =        36321.8143084
lambda =   0.046138; f =        50147.3247973
lambda =   0.031067; f =        36463.4444137
Norm of dx     4.4928
----
Improvement on iteration 5 =     4087.696727580
-----------------
f at the beginning of new iteration,     36321.8143083935
Predicted improvement:    57624.116016386
lambda =          1; f =        36321.8356210
lambda =    0.33333; f =        36322.9378132
lambda =    0.11111; f =        36321.8407691
lambda =   0.037037; f =        80884.7731416
lambda =   0.012346; f =        35493.5842001
Norm of dx     4.9183
----
Improvement on iteration 6 =      828.230108265
-----------------
f at the beginning of new iteration,     35493.5842001280
Predicted improvement:   122567.450241579
lambda =          1; f =        35504.5523440
lambda =    0.33333; f =        35493.8043979
lambda =    0.11111; f =        35493.7917060
lambda =   0.037037; f =        35493.5893212
lambda =   0.012346; f =        32744.8940779
lambda =   0.023866; f =        35493.5843017
lambda =    0.01607; f =        31938.9050708
lambda =   0.020374; f =        29995.7425550
lambda =   0.025831; f =        35493.5845707
lambda =   0.022403; f =        35493.5842107
lambda =   0.020569; f =        29694.5434106
lambda =    0.02165; f =        16639.9561700
lambda =   0.022789; f =        35493.5842256
lambda =   0.022099; f =        35493.5842035
lambda =   0.021695; f =        42304.1591741
Norm of dx     9.2743
Cliff.  Perturbing search direction.
Predicted improvement:   638728.387850583
lambda =          1; f =        35500.3225471
lambda =    0.33333; f =        35493.6373720
lambda =    0.11111; f =        35494.9825134
lambda =   0.037037; f =        35493.6839418
lambda =   0.012346; f =        35493.5854239
lambda =  0.0041152; f =        39764.7751597
lambda =  0.0013717; f =        34475.9033619
Norm of dx     13.937

badg2 =

     0

----
Improvement on iteration 7 =    18853.628030103
back and forth on step length never finished
-----------------
f at the beginning of new iteration,     16639.9561700250
Predicted improvement:   122567.450241579
lambda =          1; f =        16651.5442895
lambda =    0.33333; f =        16640.2715267
lambda =    0.11111; f =        16640.2965072
lambda =   0.037037; f =        16639.9864696
lambda =   0.012346; f =        16639.9594609
lambda =  0.0041152; f =        16639.9565289
lambda =  0.0013717; f =        16639.9562077
lambda = 0.00045725; f =        16639.9561735
lambda = 0.00015242; f =        16639.9561702
lambda = 5.0805e-05; f =        67170.6105513
lambda = 1.6935e-05; f =        17826.0525240
lambda =  5.645e-06; f =        16744.5431561
lambda = 1.8817e-06; f =        16653.6031753
lambda = 6.2723e-07; f =        16642.4366941
lambda = 2.0908e-07; f =        16640.5623712
lambda = 6.9692e-08; f =        16640.1345016
lambda = 2.3231e-08; f =        16640.0131763
lambda = 7.7435e-09; f =        16639.9744638
lambda = 2.5812e-09; f =        16639.9632175

lambda =

  -6.2723e-07

lambda = -6.2723e-07; f =        16639.4161318
Norm of dx     9.2743
----
Improvement on iteration 8 =        0.540038183
-----------------
f at the beginning of new iteration,     16639.4161318425
Predicted improvement:   280576.299237409
lambda =          1; f =        16717.2422126
lambda =    0.33333; f =        16647.3927329
lambda =    0.11111; f =        16640.2555512
lambda =   0.037037; f =        16639.5088494
lambda =   0.012346; f =        16639.4263973
lambda =  0.0041152; f =        16639.4172603
lambda =  0.0013717; f =        16639.4162532
lambda = 0.00045725; f =        16639.4161440
lambda = 0.00015242; f =        16639.4161328
lambda = 5.0805e-05; f =        16639.4161319
lambda = 1.6935e-05; f =        22015.6788241
lambda =  5.645e-06; f =        16935.8299312
lambda = 1.8817e-06; f =        16664.8554719
lambda = 6.2723e-07; f =        16641.4584164
lambda = 2.0908e-07; f =        16639.4334993
lambda = 6.9692e-08; f =        16639.3516620
lambda = 1.3473e-07; f =        16639.3543602
lambda = 2.6045e-07; f =        16639.5380673
lambda = 1.7537e-07; f =        16639.3867869
lambda = 1.1809e-07; f =        16639.3476804
lambda = 1.4971e-07; f =        16639.3631833
Norm of dx     9.2304
----
Improvement on iteration 9 =        0.068451408
-----------------
f at the beginning of new iteration,     16639.3476804346
Predicted improvement:   145676.608369041
lambda =          1; f =        16642.2279659
lambda =    0.33333; f =        16639.3694564
lambda =    0.11111; f =        16639.3477044
lambda =   0.037037; f =        16639.3476825
lambda =   0.012346; f =        16639.3476805
lambda =  0.0041152; f =        34636.2217154
lambda =  0.0013717; f =        16940.4387588
lambda = 0.00045725; f =        16564.9457572
Norm of dx     7.4517
----
Improvement on iteration 10 =       74.401923275
-----------------
f at the beginning of new iteration,     16564.9457571599
Predicted improvement:    75806.781124773
lambda =          1; f =        16566.5912222
lambda =    0.33333; f =        16565.0541856
lambda =    0.11111; f =        21245.4710426
lambda =   0.037037; f =        15722.2296431
lambda =   0.012346; f =        15482.1760349
Norm of dx     4.9893
----
Improvement on iteration 11 =     1082.769722278
-----------------
f at the beginning of new iteration,     15482.1760348820
Predicted improvement:     3989.713654303
lambda =          1; f =        15482.2232706
lambda =    0.33333; f =        15482.1761854
lambda =    0.11111; f =        14706.1183326
lambda =     0.2148; f =        14197.5120042
lambda =    0.41524; f =        15482.1773702
lambda =     0.2796; f =        14035.9395022
Norm of dx    0.72236
----
Improvement on iteration 12 =     1446.236532726
-----------------
f at the beginning of new iteration,     14035.9395021565
Predicted improvement:     3895.859943788
lambda =          1; f =        14036.0211333
lambda =    0.33333; f =        14035.9481140
lambda =    0.11111; f =        14035.9403142
lambda =   0.037037; f =        14035.9395520
lambda =   0.012346; f =        13941.9380577
lambda =   0.023866; f =        14035.9395127
lambda =    0.01607; f =        14035.9395031
lambda =   0.012676; f =        14035.9395022
lambda =   0.012444; f =        13941.1972091
lambda =   0.012582; f =        13940.1509406
lambda =   0.012722; f =        14035.9395022
Norm of dx    0.35327
Cliff.  Perturbing search direction.
Predicted improvement:    14151.114539950
lambda =          1; f =        14036.2165756
lambda =    0.33333; f =        14035.9694388
lambda =    0.11111; f =        14035.9425533
lambda =   0.037037; f =        14035.9397574
lambda =   0.012346; f =        14035.9395105
lambda =  0.0041152; f =        13927.5117061
lambda =  0.0079555; f =        14035.9395025
lambda =  0.0053568; f =        13897.7746153
lambda =  0.0067914; f =        13865.0632520
lambda =  0.0086103; f =        14035.9395030
lambda =  0.0074677; f =        14035.9395022
lambda =  0.0068562; f =        13863.6277302
lambda =  0.0072168; f =        14035.9395022
lambda =  0.0069982; f =        14035.9395022
lambda =  0.0068703; f =        13863.3163918
lambda =  0.0069468; f =        14035.9395022
Norm of dx    0.65248
Cliff again.  Try traversing
Predicted improvement: 536129634.562356412
lambda =          1; f =    388297742.7321122
lambda =    0.33333; f =     43147518.9858591
lambda =    0.11111; f =      4803595.8804381
lambda =   0.037037; f =       545193.8982604
lambda =   0.012346; f =        72716.0952711
lambda =  0.0041152; f =        20444.5525417
lambda =  0.0013717; f =        14711.9336615
lambda = 0.00045725; f =        14100.0861122
lambda = 0.00015242; f =        14040.1685691
lambda = 5.0805e-05; f =        14035.9451675
lambda = 1.6935e-05; f =        43908.1351739
lambda =  5.645e-06; f =        28773.3768959
lambda = 1.8817e-06; f =        17592.7221082
lambda = 6.2723e-07; f =        14215.6582987
lambda = 2.0908e-07; f =        13886.3324850
Norm of dx      32745
----
Improvement on iteration 13 =      172.623110341
back and forth on step length never finished
-----------------
f at the beginning of new iteration,     13863.3163918155
Predicted improvement:     3895.859943788
lambda =          1; f =        13863.4001171
lambda =    0.33333; f =        13863.3256928
lambda =    0.11111; f =        13863.3174246
lambda =   0.037037; f =        13863.3165064
lambda =   0.012346; f =        13863.3164045
lambda =  0.0041152; f =        13863.3163932
lambda =  0.0013717; f =        13863.3163920
lambda = 0.00045725; f =        13863.3163918
lambda = 0.00015242; f =        13863.3163918
lambda = 5.0805e-05; f =        13863.3163918
Norm of dx    0.35327
----
Improvement on iteration 14 =        0.000000000
improvement < crit termination

Final value of minus the log posterior (or likelihood):13863.316392 

POSTERIOR KERNEL OPTIMIZATION PROBLEM!
 (minus) the hessian matrix at the "mode" is not positive definite!
=> posterior variance of the estimated parameters are not positive.
You should try to change the initial values of the parameters using
the estimated_params_init block, or use another optimization routine.
Warning: The results below are most likely wrong! 
> In dynare_estimation_1 (line 315)
In dynare_estimation (line 105)
In HPmodel.driver (line 306)
In dynare (line 293) 

MODE CHECK

Fval obtained by the minimization routine (minus the posterior/likelihood)): 13863.316392
Most negative variance -188.914736 for parameter 4 (eps_z = 0.662772)
Warning: Matrix is singular, close to singular or badly scaled. Results
may be inaccurate. RCOND = NaN. 
> In dynare_estimation_1 (line 338)
In dynare_estimation (line 105)
In HPmodel.driver (line 306)
In dynare (line 293)
 

RESULTS FROM POSTERIOR ESTIMATION
parameters
            prior mean     mode    s.d. prior pstdev

theta_p_trans   3.000   6.9998     NaN gamm 1.4200 
h_pi            1.500   1.7783     NaN norm 0.2500 
h_y             0.125   0.2111     NaN norm 0.1250 
ssigma          2.000   7.2324     NaN gamm 1.2500 
pphi            1.000   0.5681     NaN norm 0.5000 
rho_i           0.500   0.9996     NaN unif 0.2887 
rho_a           0.500   0.8672     NaN unif 0.2887 
rho_g           0.500   0.9737     NaN unif 0.2887 

standard deviation of shocks
            prior mean     mode    s.d. prior pstdev

eps_a           0.500   0.6177     NaN unif 0.2887 
eps_g           0.500   0.2497     NaN unif 0.2887 
eps_cp          0.750   1.5000     NaN unif 0.4330 
eps_z           0.500   0.6628     NaN unif 0.2887 


Log data density [Laplace approximation] is NaN.

Error using chol
Matrix must be positive definite with real diagonal.

Error in posterior_sampler_initialization (line 84)
d = chol(vv);

Error in posterior_sampler (line 60)
    posterior_sampler_initialization(TargetFun, xparam1, vv,
    mh_bounds,dataset_,dataset_info,options_,M_,estim_params_,bayestopt_,oo_);

Error in dynare_estimation_1 (line 465)
            posterior_sampler(objective_function,posterior_sampler_options.proposal_distribution,xparam1,posterior_sampler_options,bounds,dataset_,dataset_info,options_,M_,estim_params_,bayestopt_,oo_);

Error in dynare_estimation (line 105)
    dynare_estimation_1(var_list,dname);

Error in HPmodel.driver (line 306)
oo_recursive_=dynare_estimation(var_list_);

Error in dynare (line 293)
evalin('base',[fname '.driver']) ;

